SERCRBRIE GO 1) R

@ EEHMX BT w409 — AL p Sv)./ B5RE(h)
Hh ,I‘—"l % H30.3.7 Hh ,I‘—"I % H30.3.7 h H_-‘. % H30.3.7 Hh ,‘f—i % H30.3.7
va) #$;%%Fﬁ 0.08| |MPESF 0.09 | [EERITEB 0.06 | [EiRFEKIG 0.10
FEBESF 0.09| [TII&EEFR 0.08 | [EEHH#E 0.07 | | AFHAEFR 0.09
,ﬂE’\EﬁE*“’\ﬁE 0.08| [HEFEELM 0.08| [E{RREM 0.06 | Kb AKXZE 0.09
= A ERAT 0.08| [HALER 0.07 | |@#Baz2=Fct>%—| 0.08 | |IBEFH/INFR 0.07
ERBRS—R—ILE| 009 | |[EDOREXE 0.12| [EHRPER 0.08 | [HEESRT 0.09
EORANHLEE | 006 ]| |ER/DMER 0.07 | [ERAXEEE 0.08| [{EEESFT 0.09
AKZEWHESFR |010| [ZHASNMBLKRFELE| 0.07 | |AMTEESR(HH) | 0.07 | |[LERTESR 0.09
WEFEFrrTi5 012 [—/1E&ELmR 0.08| (EE-AUAL DR 0.09| |THES 0.09
@ Kt [X
W A % H30.3.7 Hm A % H30.3.7 = A H30.3.7 W = A H30.3.7
S ESFR 0.10 | |XKi#g/hER 0.09| |[K#REtE 42— 0.10| |A/fEEMRTES | 0.08
K EHLE 0.09| | KHEAREE 0.09| |F/RELFRR 0.08| |[#®HFZAMXHL>4—| 0.10
KBATEB 0.06| |MIAZBEMERM |008| | KHENBANE | 0.08| |KsEFHiliHHEL2—| 0.08
ZABENDOFREEE| 0.08| [xtushbnirEanrs| 0.08| |[ERASE 0.09| [BmizBMxZHEL 4—] 0.09
R FE SR 0.08| [XKi¥dh=# 0.08| (o2 EAE 0.10
@ H K X
H £ £ H30.3.8 H £ £ H30.3.8 H £ £ H30.3.8 H £ £ H30.3.8
LEAREFUELV2—| 0.16 | [EZ2AmWMELTFT | 0.21 | |#RREER 0.11| |KABREFEHELVS—| 0.07
AR A ERELS— | 0.08 | [mwssesmienamnsem | 0.15 | |Mersmeernmets—| 0.09 | [BB/ BELSFT 0.12
BE RN -$#E | 0.09 | |FREER VL S— 0.09 | |HEHESERERT 0.08| |EF&E=FR 0.14
HEFHRIRELE 011 | [TEZREZEEVS—| 0.14 | |hHE/NEREES | 0.16| |FAZEMHHELS—| 0.16
EHRT—)LEIEE| 012 | |m#zsssrsrmmamsn] 0.11 | [tRmsEmmeEskR | 0.07 | [BEFE2U—2nH281] 0.12
BHRILMETRELLS—| 0.10 | |BPBRCELE 0.13| |BeZEMHELLS—| 011 | |EIUO&ELFAT(HER) | 0.12
FRELI)—2 N RF 0.23 | |ERER/ DR 0.11| |BARII—2NHRFT| 0.16 | |eEarEesmHees— | 0.14
EEAmERTAR | 0.15| |#EPER 0.15| |BF&EEH 0.08| |[FU—2n—5EEk | 0.15
F+ ALY T8 | 023 |[HBITEHE 0.10| |FxHEEFT 0.12
O EEMX
Hh A & H30.3.8 A £ H30.3.8 = A H30.3.8 H = 4 H30.3.8
WHEE SRR 0.09| [EEBREEFH 0.10| [BEAREBANEE 0.09| [HLUFEFVYTE | 0.15
BESHHE 0.09| (ARG ESFH 0.07 | !MBILUESFR 0.08 | [JlI#EATR— 0.09
EREEFEVF—| 012 | |euss-smznesassin | 012 | (RFEIIESFH 0.09 | |HRE=FT 0.08
BEREM 0.10| [AERA/NER 0.08 | (BFHEER 0.12| |[BEEARELRSEE 0.10
EEINER 0.09| |EEILESFR 0.10| |JEHRESE 0.08| [APFLVEHADFEZ | 0.12
BERER 007 | | AREMRELSRT | 0.08]| [EIEFRELVS—]0.05| |RAM/NLREEDL | 0.12
BETERB 0.08 | |FrEEESFH 0.09 | [/\IE&E£FR 0.10| |EAEEEFR 0.07
SEONE — B A/ NEERR 0.09
@5 #h X
Hh =2 4 H30.3.8 H = £ H30.3.8 = 4 H30.3.8 = 4 H30.3.8
B3 B ER AT 0.10| |MEIREE 22— 0.13| (MEAREE 0.13| |#ZHELF 0.11
B4 R/NVFERARPET 0.08| [BILEEALY 0.07 | |mslEHEtEV2— 011 | |AKXFEEFR 0.09
INRAREE 0.07 | [MEIEFHFER 011 | | KEZBMESM | 011 | |FRHEFR 0.06
HFTHHREEHS | 0.11| |[AB=1—4Y %2 | 0.10 | [HENI/INERR 0.09 | |EiR/hERx 0.10
s B4R BEERT | 0.09 | [BHDF RRFEE | 0.09| [HE)IHRRT 0.13| |tHHEREFR 0.07
MBIE2550F RBEE| — DU-SZHAEBRFN | 0.09| [H#IILESHE 0.09| |FILEEXAREE 0.07
TI—ORBEL 0.09| [FELRE 0.08| |FERMEZEMESA| 0.11 | [IBFIL/NER 0.09
mHESoEwLHEAE | 0.12| |(FWUZHMESF | 0.12| [FR/DER 0.10 | [t#i5 H3EHAT 0.07
i o] a2 5y 0.10| [AERILLTEEIEIS| 0.09 | |BHEK 012 | [kBLEfE 0.08
KigESnHLAE| 0.09| [IBFIL/NINER 0.07 | |BHEFM 0.07 | BEURAREE 0.09
e l/NERR 0.07 | |BLUABAHLARE 0.10| HILUAREE 0.11 | (fR5IEE/IMNEER 0.09
ﬂ’ﬁ%lﬁ&ﬁﬁ 0.07 | [XHHERFR 0.09 | |RKBHNRE 0.14 | |M5IEEKR 0.09
HEEE—5SFF | 0.10| |[FFAIFIXERM 0.07 | |EEAREE 012 | |KNEZLBEMESLF | 0.08
MEITSUR REBEE| 0.08 | |[ARF/IERK 0.08| |tmmBaza=7754 ] 0.12| |HIEELFR 0.08
FETN REE 007 | |EHZZBMESR | 011 [EEHMEAREE 0.09| | ERAERfE 0.09
mEIRER 0.09| [EWHIRFT 0.08| |FElthEAREE 0.13| |[XEARSEE 0.09
FrAILRIL—LUEDY | 0.09 | [EL/NERR 0.09 | |FUIhEESFR 0.11 | |EH/MERK 0.08
SR ELE 0.08| [EWLEES 0.09 | | EXEA#/ARX{E | 0.10| |ZEHEHERH 0.11
KETAREE 0.07 | |BiEHREZEMESA| 0.09 | |[FTERZXEERAM | 0.16| |EAHRR 0.10
st RREE | 007 | |BrERIETE 0.14| |BEXRESF 0.12| |ZEHEENS 0.10
HhhLEHHE 0.07 | |ELEREE 012 [rEmnmumErmn=xE | 0.16 | |[(HRMBRXRAREE 0.13
WEIERFTIAE (HFAE) | 013 |EX=RAREE 0.08 | |AEEEFT 0.09 | |edEmIzEmsm 528 | 0.14
[HERHER 0.06 | | EMNBHRAREE | 0.08| [LHEXEF 0.08| |B#ESMIZEML,EAE] 0.10




